IQLINK
WHTEIJIEKTYAJIbHAA CKC

WHCTpYKUMA No MOHTaxXy

CocTaB KOMN/IEKTA NATy-NaHENM MOAYNbHOM AN MHTENEKTYanbHON cucTeMbl cepun IQLink

@ lam4-naHens ModynbHaA 09 UHMeNNeKMYansHoU CUCMEMb

/o,"’ @ ['aUka 3aknadHaa M6 - & wm

@ @ [auda koHmakmHas 6 - & wm
(@8) Buwm M6xTS5 - & um




NOPS40K MOHTAXA

[lna MoHTaxa Bam noTpebdyeTcs KpecToBas
oTBépTka PH3.

[lna yckopeHusi npouecca MoHTaxa
PEKOMEHOYETCH UCMONb30BaTh LLUYPYNOBEPT
¢ Hacagakon PH3.

MOHTAX MATY-MAHENN MOLY/IbHOIA
ANS MHTENIEKTYAJIbHO# CUCTEMBI
CEPWM IQLINK (1.1)

LWar 1

YCTaHOBUTE CMOHTUPOBAHHbIE MOLYNN
Keystone Jack B naty-naHenb (B KOMNAEKT
MOCTaBKW HE BXOASAT).

Lar 2

MponsBennTe MOHTaX 3aknagHbIxX raek (1.2)
B COOTBETCTBYIOLLME KBaPATHbIE OTBEPCTUS
Ha CTOMKax.

Lar 3
Mpunoxute nat4-naHens (1.1) K cTokam
Kapkaca Ha HYy>XHOW BbICOTE.

Llar 4

3akpenute BuHTamu (1.4) c waiibamm (1.3)
nart4y-naHesb B BbIGpaHHOM MecTe.
MomeHT 3aTsxkn — 7 H-m.




nK

Cocras komnnekta Mogyns Slave Ans MHTennekTyanbHoi cuctemsl cepum [QLink

@ Mo@uns Slave- 1wm

@ KoMmumauuoHHyIG wyp (nam4-kopd)
/ kam6 UTP LSZH - 1um

% @ Buxm M25x8 - & wm

PacrionoxeHue pasbémoB Mofiyna Slave s MHTeNNeKTyabHoii cuctembl cepim IQLink

Mnama “Slave”

NOPAA0K MOHTAXA

[lna MoHTaxka Bam notpebdyeTcs KpecToBas
oTBépTka PHO.

MOHTAX MOAYNS SLAVE
ANS UHTENNIEKTYAJIbHO# CUCTEMBbI
CEPWM IQLINK (2.1)

LWar 1
JeMoHTUpynTe 3arnyLuKy C nat4y-rnaHenu,
OTKpYTMB 4 BUHTa M2.5-6.

Lar 2

YctaHoBuTE Moaynb Slave

ONS1 UHTENNEKTYaNbHOM CUCTEMbI

cepuu IQLink (2.1) B naTy-naHenb

(Ha MecTo AEMOHTUPOBAHHON 3arfyLUKN)

1 3aKpennTe C NoMOoLLbIo BUHTOB M2,5x8 (2.3).

Lar 3

Mopxnounte moayne Slave (2.1) naty-kopaom
(2.2) k momynio Master nnu K opyromy Mmonynio
Slave B Lenoyky (pa3beémbl: RS485-1 nnn
RS485-2 Ha nnate «Slave»).

Mpwn HeobxoammocTy Larn 2 n 3 BeINONHATL
B 06paTHOl NocneaoBaTenbHOCTU.



Cocras komnnekta mogyns Master ans uHTennexTyanbHoi cuctemsl cepun IQLink

] (3 Modyns Master- 1um

& % @ Bunka RJ45 master (30z2nywka-pesucmop 3nst UHMeNNeKMyanbHOU
I cucmemsl) - 2 wm

B @ Bunm M25x8 - & wm

% @ Adanmep cemebou MeanWell GST25E48-P1) - 1 wm

/ @ KomMymauuoHHsl whyp (namy-kopd) kam6 UTP LSZH - 1 wm

Pacnonoxenue pa3bémos Mopyns Master ans UHTENNEeKTyanbHO CUCTEMbI

Mnama “Slave’ Mnama "Master”

NOPAAOK MOHTAXA
[na MmoHTaxa Bam noTpebyeTcs KpecToBas
oTtBépTtka PHO.

MOHTAX MOAYNA MASTER
ONS MHTENNEKTYAJIbBHON CUCTEMBI (3.1)

LWar 1
[leMOHTMpYTE 3arnyLUKy ¢ NaT4-naHenu,
OTKPYTUB 4 BUHTa M2.5-6.

Llar 2

YctaHoBuTe moaynb Master (3.1)

B NaTty-naHesb (Ha MECTO AEMOHTUPOBAHHOM
3arpyLuKkn) 1 3aKpenuTe C MOMOLLLbIO BUHTOB
M2,5x8 (3.3).

Lar 3
Mopkniounte agantep ceteron (3.4) kK moaynto
Master (3.1) n k cetTn nutaHnsa 230 B.

LWar 4

MopxniounTe kabenb Ethernet (B komnnekT
MOCTaBKMN He BXOOUT) K pasbemy «Eth»

Ha nnate «Master».




AKTUBALMS PEXXMMA UHTEJUIEKTYAJIbHOW
CKC

LWar 5

CoeanHuTte naty-kopaom kat.6 UTP LSZH
pa3beém RS485-1 nnm RS485-2 Ha nnate
«Slave» ¢ pazbémom RS485-3 nnn RS485-4
Ha nnate «Master» mogynst Master (3.1).

PEXUM 19 NOAKTIOYEHNS
[0 24 CETEBbIX KABEJIEA C MOMOLLIbIO
MOAYNA MASTER (3.1)

LLiar 6

YctaHoBuTe gge Bunku RJ45 master (3.2)

B CBOOOHbIE OT NaTy-KOPAOB Pas3bEMbl:
RS485-1 unn RS485-2 Ha nnaTte «Slave»,

1 RS485-3 nnn RS485-4 Ha nnate «Master»
moayns Master (3.1).

PEXUM 019 NOAKNIOYEHUS

OT 25 10 144 CETEBbIX KABEJEM
C NOMOLLbIO MOAYNIA MASTER
1 MOAYNEN SLAVE (A0 6 LUT.)

LWar 7

YcTaHoBUTE HEOHXO0AMMOE KONIMYECTBO
mogaynen Slave (2.1), coeauHmB nx Mexay
coboi naT4-kopAoMm (2.2) (CM. MOHTaXx Moayns
ONS1 UHTENNEKTYaNbHOM cUCTeMBI (Slave)).

Lllar 8

CoeaunHnte oanH n3 mopynen Slave (2.1)
naTty-kopaom (2.2) c pasbémom RS485-1
nnn RS485-2 Ha nnate «Slave» moayns
Master (3.1) (cm. MOHTax moayns Slave
LS UHTENNEKTYaNbHON CUCTEMBI).

LWar 9

B cBo60oaHbIV pazbéM (RS485-1 nnun
RS485-2) Ha nnate «Slave» kpaitHero moayns
Slave yctaHoBuTte Bunky RJ45 master (3.2).

Lar 10

B cBo60HbI pasbém (RS485-3 nnn RS485-4)
Ha nnate «Master» mogyns Master yctaHoBute
Bunky RJ45 master (3.2).




PEXXMM AN19 NOAKOYEHUS Waz B3
OT 145 [10 288 CETEBbIX KABEJIEN

C NOMOLLbIO MOAYNS MASTER U MOAYNEN
SLAVE (80 12 LUT.)

War 11

YcTtaHoBUTE HEOHXOAMMOE KONNYECTBO
mopaynei Slave (2.1), coeauHUB NX Mexay
coboii naT4-kopAom (2.2) (CM. MOHTaXx Moayns
Slave onst UHTENNEeKTyanbHOM CUCTEMDI).

Lar 12

CoeauHnte aBa moayns Slave (2.1)
naty-kopaamu (2.2) co cBO60AHbIMU
pasbémammn RS485-1 nnn RS485-2 Ha nnate
«Slave» n RS485-1 nnu RS485-2 Ha nnate
«Master» mopyns Master (3.1) (CM. MOHTax
moayns Slave ons nHTennekTyanbHomn
CUCTEMbI).

Lar 13

B cBo6oaHbIe pasdbeéMbl (RS485-1 nnm
RS485-2) Ha nnaTe «Slave» kpaliH1x Moaynemn
Slave yctaHosuTte Bunku RJ45 master (3.2).




nK

Kit composition of an intelligent system modular patch panel IQLink series

G
S

@ Intelligent system modular patch panel

@ Cage nut M6 - L pcs

@ @ Contact washer 6 - & pcs
@ Screw M6x15 - & pcs

INSTALLATION PROCEDURE

You will need a PH3 Phillips screwdriver for
installation. It is recommended to use a screw
driver machine with a PH3 head to speed up
the installation process.

MOUNTING THE INTELLIGENT SYSTEM
MODULAR PATCH PANEL IQLINK SERIES (1.1)

Step 1

Install the Keystone Jack modules assembled
into the patch panel (not included in the
delivery set).

Step 2
Mount the cage nuts (1.2) to corresponding
square holes on the racks.

Step 3
Attach the patch panel (1.1) to uprights of
frame at a desirable height.

Step 4

Fix the patch panel on a selected place, using
screws (1.4) with washers (1.3).

Tightening torque — 7 N-m.




Kit composition of intelligent system slave module IQLink series

@ Slave module - 1 pc

/ @ Patch cord Cat. 6 UTP LSZH - 1 pc

% @ Screw M25x8 - & pcs

Location of connectors of the intelligent system slave module IQLink series

“Slave” board

| |

===t

[pp—
@

"] 1

-] 1

INSTALLATION PROCEDURE

You will need a PHO Phillips screwdriver for
installation.

MOUNTING THE INTELLIGENT SYSTEM
SLAVE MODULE IQLINK SERIES (2.1)

Step 1
Dismantle a cap from the patch panel, by
loosening 4 screws M2.5-6.

Step 2

linstall the intelligent system slave module
IQLink series (2.1) into the patch panel (instead
of a cap dismantled) and fix it, using screws
M2.5x8 (2.3).

Step 3

Connect the slave module (2.1), using a patch
cord (2.2), to the master module or another
slave module into a circuit (connectors:
RS485-1 or RS485-2 on "Slave" board).

If necessary, perform Steps 2 and 3 in reverse
order.



nK

Kit composition of an intelligent system master module IQLink series

@ Master module - 1 pc

@ Plug RJL5 master (resistor plug for intelligent system) - 2 pcs

@ Screw M25x8 - & pcs

@ Network adapter MeanWell
GST25EL8-P1) - 1pc

@ Patch cord Cat. 6 UTP LSZH - 1pc

Location of connectors of the intelligent system master module IQLink series

“Slave” board "Master” board

INSTALLATION PROCEDURE

You will need a PHO Phillips screwdriver for
installation.

MOUNTING THE INTELLIGENT SYSTEM
MASTER MODULE IQLINK SERIES (3.1)

Step 1
Dismantle a cap from the patch panel by
loosening 4 screws M2.5-6.

Step 2

Install the master module (3.1) into the patch
panel (instead of a cap dismantled) and fix it,
using screws M2.5x8 (3.3).

Step 3
Connect a network adapter (3.4) to the master
module (3.1) and power line 230 V.

Step 4

Connect Ethernet cable (not included in the
delivery set) to "Eth" connector on the "Master"
board.




il
ACTIVATION OF INTELLIGENT SCS MODE

Step 5

Using a Cat.6 UTP LSZH patch cord, connect
RS485-1 or RS485-2 connector on "Slave”
board to RS485-1 or RS485-2 connector on
"Master" board of the master module (3.1).

MODE FOR CONNECTING UP TO 24 NETWORK
CABLES USING MASTER MODULE
IQLINK SERIES (3.1)

Step 6

Install two RJ45 master plugs (3.2) into the
connectors without patch cords: RS485-1
or RS485-2 on the "Slave"” board,

and RS485-3 or RS485-4 on the "Master”
board of the master module (3.1).

10




MODE FOR CONNECTING

FROM 25 TO 144 NETWORK CABLES, USING
A MASTER MODULE AND SLAVE MODULES
(UPTO 6 PCS.)

Step 7
linstall the required number of slave modules
(2.1), connecting them by means of a patch

cord (2.2) (see mounting the intelligent system

slave module).

Step 8

Connect one of slave modules (2.1), using
a patch cord (2.2), to RS485-1 or RS485-2
connector on the "Slave" board of master
module (3.1) (see mounting the intelligent
system slave module).

Step 9

Install RJ45 master plug (3.2) into a free
connector (RS485-1 or RS485-2) on the
"Slave" board of the farthest slave module.

Step 10

Install RJ45 master plug (3.2) into a free
connector (RS485-3 or RS485-4) on the
"Master” board of the master module.

11




MODE FOR CONNECTING FROM 145 TO 288
NETWORK CABLES, USING MASTER
AND SLAVE MODULES (UP TO 12 PCS.)

Step 11

Install the required number of slave modules
(2.1), connecting them by a patch cord (2.2),
(see mounting the intelligent system slave
module).

Step 12

Connect two slave modules (2.1) by means
of patch cords (2.2) to free RS485-1 or
RS485-2 connector on the "Slave" board and
RS485-1 or RS485-2 on the "Master" board,
of the master module (3.1) (see mounting the
intelligent system slave module).

Step 13

Install RJ45 master plugs (3.2) into free
connectors (RS485-1 or RS485-2) on the
"Slave" board of the farthest slave modules.

M3paHwne / Version 3

12






